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QUESTION 1
How should the architect configure the virtual servers on the two appliances?

A. Create one virtual server for each appliance and on each appliance bind a session policy to its virtual server, which is
configured in ICA Proxy mode using the datacenter StoreFront server.

B. Create one virtual server for each appliance and on each appliance bind a redirection policy to its virtual server,
which is configured in ICA redirection mode using the datacenter StoreFront server.

C. Create two virtual servers for each appliance and on each appliance bind a redirection policy to the virtual server(s),
which is configured in ICA redirection mode using the datacenter StoreFront server.

D. Create four virtual servers for each appliance and on each appliance bind a session policy to the virtual servers,
which are configured in ICA redirection mode using the datacenter StoreFront server.

Correct Answer: C

QUESTION 2

Scenario:

A Citrix Architect is designing a multi-server Provisioning Services solution for CGE. The solution must be
highly available and minimize the risk of vDisk inconsistency. Why does implementing RAID 0 satisfy the
requirements?

A. It provides striping.

B. It provides the highest performance.

C. It provides fault tolerance.

D. It provides minimal disk usage.

Correct Answer: A

QUESTION 3

Scenario:

A Citrix Architect is asked to design a new external access architecture for CGE. The regional datacenters have
NetScaler appliances delivering load-balancing services. Security policy mandates that these internal appliances
CANNOT connect to the DMZ.

Which configuration should the architect recommend for the new external access architecture?

A. One NetScaler located in all three regional datacenters, configured as a cluster using the same Global Server Load

Balancing (GSLB) site, secure.cge.com. Configure the NetScaler Gateway within StoreFront with the SNIP of each
NetScaler device.
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B. A high availability pair of NetScalers located in all three regional datacenters. Configure a single public DNS server
record, including all three NetScaler pairs.

C. A high availability pair of NetScalers located in all three regional datacenters, each configured to use the same
Global Server Load Balancing (GSLB) site.

D. One NetScaler located in all three regional datacenters. A single public DNS server record should be configured,
including all three NetScaler pairs.

Correct Answer: C

QUESTION 4

Scenario:

CGE decided to virtualize its infrastructure workloads and provide a virtual solution to all end users. The
infrastructure workloads include Delivery Controllers, StoreFront servers, License Servers, and Microsoft
SQL Servers for databases.

How should the architect recommend that the target devices boot from the Provisioning Services server?
A. By configuring a Windows deployment server

B. By using SFTP

C. By using FTP

D. By using DHCP

Correct Answer: D

QUESTION 5

Scenario: CGE acquires a small energy company that is running MGMT, a proprietary 16-bit application. A Citrix
Architect is tasked with deploying this application to the Executives/Management end-user group. The ClIO mandates
that a FlexCast model must be chosen that resembles this end-user group\\'s existing delivery strategy. It is important
that a single-image deployment is utilized and that management effort is kept to a minimum

for the update process. The availability of a fast rollback plan must also be available after upgrades, since

it can often result in system instability.

Why is deploying MGMT as a VM hosted app on Windows 7 x86 with Machine Creation Services the best

solution?

A. It supports 16-bit applications.

B. It meets the high-performance application demands of the Executives/Management end-user group.

C. It allows the installation of custom applications.
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D. It offers faster change and rollback procedures.

Correct Answer: C
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